
Maths Homework Y5 Mrs Ferrier and Mrs Davis 
Date set: 3/11/20 
Date due: 9/11/20 

You need to try to complete both sections 
 
 
 

Section 1 –  

 

1.  6, 12, 18, 24, 30, 36, 42 

 

2. Which number uses 7 as 70? 

173,842     154,879      162,751 

 

3.  25,748 = 26,748 - 1000 

 

4.  Halve 68 = 34 

 

5.  54 ÷ 9 = 6 

 

6.  Alex buys a ball for £3.50 and a 
pair of gloves for £5.50.  How much 
change does he get from £10?    £1 

 

Section 2 –  
Find the answer to each calculation and then put the 
numbers in ascending  order: 

 

30,000+4,000+600+10+5 = 34,615 

 

36,285 – 2000 = 34,285 

 

74,651 – 40,000 = 34,651 

 

Thirty four thousand, two hundred and 
eighty one = 34,281 

 

32,258 

32,258; 34,281; 34,285; 34,615; 34,651 

 

 
 

 


